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No. of Questions : 180

Tyl @t WEAT: 180
Time : 2 Hours Full Marks : 4=
e ; 2 gue | quTl : 45
Instructions :
fder

This paper consists of Objective Type Questions and is divided ir
Two Sections (I & II) as under.

A8 N9 FgaecdiE 9ol uR AR € 7o & west (1w
7 fosrer 8, St e e affa §

(a) Section - I consists of 120 Objective Type Questions on Ment..
Ability, Quantitative Aptitude and General knowledge & Currei.

Affairs.

gue- 1 § 120 Fgfredly ws wmftes dvear, qfimmr o=

HITT TAT THA S T AHIRTD Tl qx e @)
(b) Section - II consists of 30 Objective Type Questions on {I) Englic

Language and (II) Hindi Language.

EUS- 11 § 30 sgfeseda usw (1) ieq | 3R (1) B

RICIIE T Efsrglice) B r o

A candidate is required to attempt as many questions as e

she can of Section- I, and Questions op ANY ONE of the T™wW:

Language papers (I) English OR (II) Hindj in Section.yr

awmﬁeﬁ%%ﬁ;w—IW@g-II%lx' Wi

() fe=y A @ ST S B vy gy |

P.1.
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Note /T : (1} Each question carries 3 marks. One mark will be deducted

for each incorrect answer. Zero mark will be awarded for

each unattempted question.
O 999 3 ofl @1 & | dd% T S & [ U 36
FET ST | e STORA U9 H OIS L B

If more than one alternative answers seem to be approximate

to the correct answer, choose the closest one.

o TR JoeTE IUT @8l SUX & [Aehe Wed &, dl
e 981 Iw} 3|

Each question is followed by Four alternative answers (1),
(2), {3) and (4). One of these answers is correct. Select the

correct answer and record it against the relevant question
in the ANSWER-SHEET by darkening the circle with Ball
Point Pen as per guidelines.

HE T B AR Jeiasn IWR A ™ 8 B (1), (), (3)
T (4) GRS & awEr T B T Q A TH S & T
TEE IAT gﬁa TN IED THd B IcA-TA T qeTEl
Hﬂ%ﬁﬁﬁﬁ%ﬂﬂgﬂﬁﬁﬁgﬁ(ﬁ)ﬁwmh
AT AT FHIH SR |
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SECTION -1
gqug -1
01. Find the missing term in the following series :
fr=r Aot & gsmaEs Rre & we X g g &Y
1, 6, 15, ?, 45, 66, 91 |
(1) 25 (2)26  (3)27  (4) 28

2. Find the next two term in the series :

frer A9f § e @) g geT
A CFJ, 2?7
()L,P  (2JM,0 (3)O,U (4 R,V

Directions for Question no. 3 & 4 : There is a certain relation between
two given words on one side of : : and one word is given on another side of
: : while another word is to be found from the given alternatives, having
the same relation with this word as the given pair has. Select the best
alternative.

e Hear 3 ud 4 ®g Fewr: @ ved RA W @ =t ° @ FrEd
T ¢ W gAY V% U e fEr ¥ saraent =X & RA T
‘Wﬁﬁmﬁmgﬂm%fﬁﬂﬁaﬁm st fRa ™ =t A

03. Food : Stomach : : Fuel : ?
(1) Plane (2) Truck (3) Engine (4) Automobile
o= : U ¢ gy : ?
(1) &% S (2) (8) T (4) SARHEET
04. Court : Justice : : School : ?
(1) Teacher (2) Student (3) Ignorance (4) Education
SETd - gE R  ?

(1) [Rrep (2 Feeft (@) wEPEAT (4) R

E.T.0.
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Directions for Question no. 5 & 6 : In each of the following questions,

four words have been given, out of which three are alike in some manner,

while the fourth one is different. Choose out the odd one :

997 TS 5 T 6 vy W : Frefafed gedt # AR o= R3 1 ¥
T A s qve & ¥ ok G g@d aXe @, e #@ g

05. (1) Radio (2) Television
(3) Computer (4) X-ray
(1) =A@ (2) SenfasH
(3) =FgEy (4) TEE-X
06. (1) Rajiv Gandhi (2) Zail Singh
(3) Dr. Rajendra Prasad (4) Pranab Mukherjee
(1) S A (2) S THe
(3) 2fo ToFE TR (4) ST gt
07. Pointing towards a boy, Veena said, "He is the son of only son of my

orandfather.” How is the boy related to Veena ?

{1y Uncle (2) Brother

{3} Cousin (4) Data Inadequate

o e ) AT 2R e g A A Cae R R & Ee
EEREAl 30| T @ 39 AR QA N T § 7

(1) = (2) %

3 =R /AT (4) offpg Srqart

2}
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Directions for Question no 8 to 10 : Read the following information care-

fully and answer the questions given below:

g9 HEdr 8 § 10 T & fog My : Frefifaa gaem @ ags
TeHt Y R 7w usHt w1 Iaw R

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are
good in Hockey and Baseball. Gaurav and Kunal are good in Cricket and
Volleyball. Sachin, Gaurav and Michael are good in Football and Baseball.

W 3R FART ST T FreiErer F ored ¥ | |ite o <y e o aedr

H o8 € ) IRg IR F Brbe olX ardiafer & ored ¥ | |, kg oix
st geare ofT FEdte ¥ ored ¥)

08. Who is good in Hockey, Cricket and Volleyball ?

(1) Sachin (2) Kunal (3) Ravi (4) Gaurav

eI, hhe IR awiErfa § @ aremr 2 7

(1) Hfee (2) (@) (4) A
09. Who is good in Baseball, Cricket, Volleyball and Football ?

(1) Sachin (2)  Kunal (3) Gaurav (4) Ravi

THATT, Bz, arcfieier g qeata & @ o B 7

1) wfEs (2) AT (3) Mg (4) fa
10. Who is good in Baseball, Volleyball and Hockey ?

(I) Sachin 2 '

(2)  Kunal (3) Ravi (4) Gaurav
I, ATl O 2 § e aremy R 7
(1) afeA 2 I (3 4) g
7

P.T.0,
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Directions for Question no. 11 to 15 : Read the following passage to
answer these questions:

qeT Hemr 11 § B 15 aF B R PRy o Pl ssRe #@
TehT U9 & IET & ¢

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as
old as Mahima. Rajan is half the age of Mahima. Anita is half the age of
Deepti and Rajan is twice the age of Lata.

Sl At wom, o ol At die SRR/ E-Se € 1 ST,
Wﬁ?ﬁ&rrgﬂ%%lwﬁwmﬁ@%amﬂ%lﬁm
A 5n €T ) 34 4 o ® ud e ® SH @ @ IW H GLA o

11. Who is the youngest ?

(1) Decpu (2) Rajan (3) Lata (4) Anita

HIT HIY B IF H € !

1) At (@) o (3) @ (4) ST
12. Who is the eldest ? _

(1) Deepti (2) Lata (3) Anita (4) Rajan

19 Tad oAl 35 H 8 7

(1) =fE (2) < (3) ST (4) T
13. Which of the following pairs of persons are of the same age ?

(1) Mahima & Lata (2) Anita & Mahima

(2} Mahima & Rajan (4) None of these

ﬁﬁg‘“’(ﬁﬁ‘*f@w%%?
vy miEE ST T

3) wiesr Y T

2) arfien ol AR
@) Sl § [ g T

14. Anita is younger than : |
| (2) Mahima

e (4) None of these

@) beept



15.

16.

17.

18.

16U/118/8

ST B TH FH T

(1) o+ 9 (2) #Hfear |

(3) g | 4) S ¥ fRdt @ T8
If Mahima is 16 years old, then what is the age of Lata ?

(1) 4 years (2) S years (3) 7 years (4) 14 years
Wq%ma%eﬂglﬁaéa%%ﬁrwaﬁmw%?

(1) 4ad 2) 59 (3) 7 a4 (4) 14 99

You go North, turn right, then right again and then go to the left. In
which direction are you now ?

(1) North (2) South (3] East (4) West
IR 1 3R oy ¥, arfes %fﬂa'{ﬁrq%;mm%ﬁgqﬁ
arg !

Rohan walks a distance of 3 km. towards north, then turns to his left
and walks for 2 km. He again turns left and walks for 3 km. At this
point he turns to his left and walks for 3km. How many km. is he
from the starting point ?

(1) 1 km. (2) 2 km. (3) 3 km. (4) 5 km.

fFo?aﬁﬁﬁlgﬁﬁTﬁﬁﬂﬁamWGmﬁﬁQMoW
E‘iﬁﬁWWQWWSMOW%IW%WW
-w:%g?ms%mow%fagaﬁwmvmﬁﬁﬁﬁﬁ

321465987 &l 317 STRYS) R i
Imaﬁ%ﬁi(ﬁam)ﬁﬁwmﬁ S

(1) TH (2) = (3} =
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19. Saturday was a holiday for Republic day. 14" of next month is again
a holiday {or Shivratri. What day was it on 14" ?
(1) Monday (2) Thursday
(3) Tuesday (4) Wednesday

AT @ gedl ot e oids Raw o1 ER WeN # 14 ardd
F T F oremRr AV 14 A W dHA-ar R or ?

(1) dFEr () TR () FRER O (4) 3ER

20. If P mecans 'division’, T means 'addition’, M means 'subtraction' and D
means 'multiplication’, then what will be the value of the expression
12M12D28P7T157?

ST P el 31 B e, Tar ot ® “siig’, M Rt atef B “aema’,

r

D % g T CQOm” @ 12M 12D 28P7T15 & A B ¢

(1) -30 (2) -21 (3) 15 4) 21
Directions for Question no. 21 to 23 : In each of the following questions,
o statement/ group of statements is given followed by some conclusions.
Without resolving anything yourself, choose the conclusion which logi-
cally follows from the given statement(s) :

e der 21 @ 23 g Pew ;o Frefuted gde 9w AU

‘. ~ - . a'l}
ETEOT /EgRoT A8 R 2 Rras 9 hHe forepd faT fopelt dapcd @
s Pawed @y g ol e = & R e /REeit & e

51. Statement : Most dresses in that shop are expensive.

Conclusion :

(1) There are no cheap dresses available in that shop.

(2)
3y M
|) Hom

b

1{andloom dresses in that shop are cheaper.
ere arc cheap dresses also in that shop.

e (resses in that shop are expensive.

10



220

23.
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RERer @ 3d gwm F erfvemdr dei e ¥
Frepet -

(1) 38 3 | FIE G a8 Iqaey T8 T
(2) =g Ter 9w ¥ o gHEe §)

(8) B¥ g H wwl gex off ¥

(4) I HE A HB g Tet ¥
Statement : Every library has books.
Conclusions :

(1) Books are only in library.

(2) Libraries are meant for books only,

(3) No library is without books.

(4) Some libraries do not have readers.
foreret : oo qereRE & g&T B ¥y
frepd .

(1) g&me faw geemma § a3 3

(2] gEmea faw gt § e 8

(3) I it gerpeEm R ge & T @y
(&) H® g d w1 s wdt ey |
Statement : All beggars are poor.
Conclusions :

(1) IfAis a beggar, then A is not rich.

(2) IfAls not rich, then A is not a beggar,

(3)  All those who are poor are beggars.

(4) IfAisrich, then A s not a heggar.

11
P,T.O.
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Rreer - asf Rrgesd g e B

frepe

(1) X A fEem 8, & A o =18t 281

(2) T A a9 Jet 8, ar A PBrEHT T8t g

(8) @+l T RraHd g

(4) T A TR @, a A Praem & &1
Directions for Question no. 24 to 25 : In the following questions there
are given some statements followed by conclusions that can be drawn

from therm. Choose the conclusion which appeals to you to be the most
correct.

4 | ' Rre Prder : Frafefag meal d o e @
*I‘zﬁﬁaﬁﬁ%z%;%ﬁaﬁ@ﬁﬁélwﬁ%ﬁﬁgﬁﬁaw

gd =& suren ey )

24. The Taj is in Agra, Agra is in India, the Taj is in Inida.

(1) True (2) Probably false
(3) False (4) Can't say

S ST § B, ST 9Rd H 8, i WRd H B
(1) 99 (2) FETAT AT
(3) oTEH (4) =&t ®E "HAT

25. The presence of calcium in milk makes it white. Rice, too, is white.
Therefore, rice also contains calcium.
(2) Probably true

(4) Can't say

. 3 RO O gy GBS orar 8 | =
5 7 S T e B )

- (2) |=ETAT 9
() e (4) 7 Fe wHd

(1) False

12
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26. Reaching the place of meeting 20 minutes before 8.50 hrs. Sur_nit
found himself thirty minutes earlier than the man w‘ho came 40 min-
utes late. What was the scheduled time of the meeting ?

(1) 8.00 (2) 8.05 (3) 8.10 (4) 8.20

W%szowm,ﬁ_wwawsomﬂew

39 AfFR @ 30 foFe gsat ST aafad 40 fFe de oy
gmﬁqﬁﬂ%%qﬁa’rﬁawwmq%m-

(1) 8o (2) 8&aw=HT 5 famre

(3) 8FSHT 10 fH=e (4) 8« SThY 20 e
Directions for Question no. 27 to 31 : Read the following information
carefully and answer the questions that follow :

9 €& r 27 ﬁ31w%mﬁ€m::ﬁ€rﬁ-&nﬁwaﬁﬁ
EI H YGHT A P 99t B Ieaq o

Six lectures A, B, C, D, E and F are to be organized in a span of seven days-
from Sunday to Saturday, only one lecture on each day in accordance with
the following :

Si&TH A, B,C,D,ETd F d1F R &t s1afy & s & - e
8 afvam, Frfated srgenm & orEr Rie oF ame o o
() A should not be organized on Thursday.
AT ST THATC FY 781 By B
(ii) C should be organized immediately after F,
C &1 amT F & R & |
(11i) There should be a gap of two days between E and D.
Ema D% 4 3 R &1 areret |

(v} One day there will be no lecture (Friday is not that day), Just
before that day D wil] be organized.

%ﬁ?ﬁ?mqﬁm(wﬁ@wﬂbwq}@ﬁq
NE

(v} B should be organized on Tu

5 g esday and should not be followed
y D.

13
P.T.0.
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27. On which day there is no lecture ?

(1)  Monday (2) Friday

(3) Sunday (4) Can not be determined
fpg 9 =g =rear Fdl B ?

(1) AW (2) YHATT

(3) AR (4) e =E fRaT ST oA

28. How many lectures are organized between C and D ?

(1} None (2) One (3) Two (4) Three
C ug D & drer Reaw arEd™ STa B T ?
W #ETE () @3 @ (4) o

29, Which day will the lecture F be organized ?
(1) Thursday (2) Friday (3) Saturday (4) Sunday

T F & o fha &9 8rm 7
(1) T&aX (2) ERAT (3) ef@Er 4) Eaar

30. Which of the following is the last lecture in the series ?

(1) A (2) B
3) C (4) cannot be determined

p{wﬁmﬁwaﬁ?—w@ﬂ?
1) A 2) B
@ C (4) gar wéi fRar S Gehdll |

llowing information in not required in finding the

f organization of lectures ?
(2) (i) Only
(4) All are required

31, Which of the fo
complete sequence o

() Only
(3) (i and (i1

14
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FrffEd # § -8 g, AT Hd qeET B 9ot ormn
waﬂﬁﬁamswﬁq%?

(1) s () (2) B&aw (i)
(3) () ud (i) (4) |AT A SAravFEHAT

Directions for Question no 32 to 40 : Read the following information
carefully and answer the questions that follow :

HW#@T&%NW%R{Q%E%:W%@HWWWW

% UsHl F I S

Ais older than B. C is older than B but younger than A. D is younger than
E and B. B is older than E.

AB @ 3w ¥ g3 ¥ C,Ba@ﬁasr%WAawﬁ@a%uD,Eqa‘Bﬁ
SH ¥ 8T ¥ BE 9 39 H ggr ¥

32. Whose age is between B and D ?

(1) E (2) C

(3) A (4) None of these

B QI D IYF e gy & 7

(1) E 2) ¢

(3) A (4) SR # q FE TS
33. Whose age is between A and B ?

(1) D | (2) C

(3) E (4) None of these

PPl S0 A wd B & g B 7

(1) D 2] €

(3) E (4) SR F q B 71

34. Who is eldest ?

SEREES I -0 I T
(1) ¢ 2 B (3) E

15
P.T.0,
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35.

36.

37.

38.

39.

40.

Who is the middle ?
4t 1 IW w B B 7
1) B 2, € (3)

Who is the youngest ?

a9 B1E I #H P T 7
() A 2) C (3)

How many are between A and D ?

(1) 3 2)
(3) 1 (4)
A D da e & o € 7
(1) 3 (2)
(3) 1 (4)

Who is to the extreme right ?

B (4) D

2

None of these

2
IqERT B 9 HE A6l

T IH W SNMR YT UF @7 § qad @9l e sm dr aifed

& gad T o @I e ?
(1) C (2) D (3)

Who is to the leftof C ?
CH ad HF B 7
(1) A (2) D (3)

How many are to the left of E ?
g & ar feem € 7
(2

16

) 2) 3 3)

B (4) E
B (4) E
1 4) 4



41.

42.

43.

44,

45.

16U/118; =

Find the remainder when 73+75+78+57+197 is divided by 34.

TG 73+75+78+57+197 HY 34 F AT AT AT 8 O AW feherAr "=
g ?
(1) 32 (2) 4 (3) 15 (4) 28

How many terms are there in the Arithmetic Progression : 20, 25, 30,

.......... , 130.
20, 25, 30, .......... , 130 TR §HIAY Ao oty & i fhaw
g7

(1) 22 (2) 23 (3) 21 (4) 24

The average age of 24 students and the principal is 15 years. Wheu
the principal's age is excluded, the average age decreases by 1 ye:
What is the age of principal ?

24 [Tenfeat od gaEr # 99 @f ol|d 15 8, SoFR SUMrETd
TH H Bl RAT 9 & ofrad 9w um T ae o ¥ Sy g
HSH T B ?

(1) 38 (2) 39 (3) 40 4) 37

Find the missing number of the following :
Frfefas & faga d@ear a1 gar @

4827+ ? 2 = 3359
(1) 4 (2) 3 (3) 2 (4) 7
What is the cube root of 0.000001 ?

0.000001 &1 T /4y & ?

(1) 0.1 (2) 0.01 (3) 0.001 (4) 0.0001

17
P,T
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46.

7.

Solve the following :

45-[28-37-(15-7)}] = 58

Freifafaa w1 amam 3¢

45-[28-{37-(15-?)}] = 58

(1) 19 (2) -19 (3) 29 4) -29
Find the LCM of 22, 54, 108, 135.

22, 54, 108, 135 % TgwH e |
(1) 5940 (2) 5490 (3) 5495 (4) 5049

48. A, B and C are having average weight of 45 kg. If A and B are having

49.

average weight of 40 kg. and B and C are having average weight of 43
kg., then the weight of B is ?
(1} 17 ke. (2) 20 kg. (3) 26 ke. (4) 31 ke.

A,B Ud C @ olrad avi 45kg. §1 X A Q& B HN T T
40 kg, ¥ ofr Bwd C = ol as 43 kg, & T B W A9
¥ T ?

(1) 17 [&oTo (2) 20 fFomTo

(3) 26 fHoTTO (4) 31 fFHoTo

Ifa:b=4:3andb:c=3:5thena:c="?

B\EA 4:b=4:3 M b:c=3:5 Waic=?
(1) 1:3 (2) 3:2 (3 2:3 (4) 4:5

50. 1f (x/2) = (y/d), then (x+3) : (y +5) =7

afr (x/3) = ly/5), T x+8) 1y +5) =7
(1) 5:2 (20 2:7 (38) 3:5 (4) 5:8

18
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52.

S3.

54.

5§.
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If 15 men can dig a well in 20 days, then how many men will be
required to dig the well in 12 days ?

afd 15 SAgHl U HU @ 20 R d @ @ 8, O I HY H
12%@@@%%%%#%@%%

(1) 15 (3) 18 (4) 25

If 3 men and 6 women can finish a work in 16 days, then how many
days will be required to finish the same work by 12 men and 8 women ?

(1) 4 days (2) 5 days
(3) 3 days (4) 2days

it 3 369 T 6 Afeardt wh w16 Rt 7 9% wadr ¥ Qo6
mﬁlzwﬁrsqﬁﬁﬁﬁmﬁﬁﬁﬁgﬂwm%?

(1) 4R= (2) sfe=

(3) 3f= 4) 2=

The largest number which is a factor of 56 as well as 84 is :
ST HEAT S 56 & AMY-6TY 84 B WY HICH &

{1} 2 2) 7 (3) 14 (4) 28
Which of the following is equivalent to (15/25) ?

T A @A (15/25) & g § 7

(1) 150/25 (2) 15/250 (3) 3/s (4) 60/75

0.04x10* when expressed in decimal form ?

afd 0.04x10° & e & =T F gyl 9T G erm-
(1) 4 (2) 40 (3) 400 (4) 4000

19
P.T.0.
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56. A Tailor has 37.5 meters of cloth and he has to make 8 pieces outof a

57.

58.

59.

00.

61.

meter of cloth. How many pieces can he make out of this cloth ?

UF TS F urw 37.5 Hex ged & ok IEH | I U Hex d
se 919 F92 g 21 gand % g8 Reae H9g a9 gl © 7

(1) 300 (2) 320 (3) 360 (4) 400

12x12+08x08+24x08=7

(1) 3 (2) 4 (3) 1.2 4) 1.5

Find x if (x/5) - (x/6) = 4

x 1 qeg et A (x/5) - (x/6) = 4

(1) -120 (2) -100 (3) 100 (4) 120
If (a/b) = (3/4) and 8a + Sb = 22, then the value of a is :

af% (a/b) = (3/4) Td 8a+5b=22 & a H T 8 :

(1) 1 (2) 1/2 (3) 3/2 (4) 3/4

What pereent of 3 meters is 75 cm s

3 et @ 75 YT R gy B 7
(1) 10% (2) 15% (3) 20% (4) 25%

Divide ¥ 8800 into two parts such that one part is 10% of the other.

(1) 4800, 4000 (2) 8000, 800

(3) 7000, 1800 (4) 7200, 1600
?BBOoaﬁlﬂwﬁﬁaﬁ%megﬂ%aﬂmnﬁﬁmﬁl
(1) 4800, 4000 (2) 8000, 800

(3) 7000, 1800 (4) 7200, 1600
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65.

66.

67.
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7.5% of 140 + 2.5% of 80 = ?
140 &1 7.5 GIITT + 80 BT 2.5 Ui = ?
(1) 125 2) 12.5 (3) 145 (4) 145

If the cost of 1 dozen pencils is ¥ 14.40. The cost of 4 pencils is :

waﬁaﬁazﬁaﬁmtm.m%,a’mﬁﬁ‘ﬂaaﬁaﬁmm:
(1) 25.20 (2) T4.80 (3) ¥7.20 (4) ?6.60

If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in
how many days ?

W?qa%wﬁ?ﬁmwa?m%,ﬁlwlm
R R & g 7

(1) 1 2) 7/2 3) 7 (4) 49

“+2+3+4+5+6+7"‘3+9]°i53€lualt0:
[1+2+43+4+4546+7+8+9pauEg 3 ¢

o (2) 1 (3) 45 (4) 450
f{x+1/x) =3, then (x* + 1/x%) = ?

AR (x+1/x) =3, & (0 + 1/x) = »

w2 ) 18 (@) 27 4) 6

A vendor bought a number of bananas at 6 for 5 rupees and sold
them at 5 for 6 rupees. He gained by ?

g%@?g?ﬁsmﬁ@ﬂmﬁmﬁsﬁm&ﬂw

(1) 32% (2)  44% 3) 55% (4) 259
0

21
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68. A sum of money doubles itself in 12 years at simple interest. What is

69.

70.

7T1.

the rate of interest ?

T A 12 a9 F FYRCT AN & & G G B Al & | =TS
BT AT & ?

(1) 9.33% (2) 6.33%  (3) 7.33% (4) 8.33%

A, B and C opened a business by contributing ¥ 10,000, ¥ 20,000 and
¢ 15,000. At the year end, the profit was T 4,500. How should they
distribute the profit ?

A, B Td C I W% A9 2 10,000, % 20,000 TH 2 15,000 & & 5771
A F 3T F T 4,500 F @TH g | A AN A K hd Fre !

(1) 900, 1900, 1400 (2) 1000, 2000, 1500
(3) 1200, 2200, 1700 (4) 1500, 2500, 2000

A person can row down a stream at 6 km /hr and up the same stream
at 3 km/hr. His rate is still water is ?

(1) 9 km/hr (2) 4.5 km/hr

(3) 1.5 km/hr (4) 1.0 km./hr

eﬂarﬁwa%ﬁwﬁs%ﬁ./daaﬁnﬁrziwww
iﬁ?ﬂ?ﬂﬁwﬁaﬁwﬁaﬁﬁﬁ./wﬁﬁﬂwww

g, dl feex o A g 7 T @ A P w7
(1) 9f. = sae (2) 4.5 A /=T

(3) 1.5%.4 g (4) 1.0f%.Ar. 8

A room is 9 meters long, 7 meters broad and 3 meters in height. Find

the cost of preparing it ¥ 50 per mt?,

Wgrﬁﬂa@,?ﬁﬁﬁzﬁ@eﬂrs%éﬁt%wsonﬁ

w A L

2 § e P 9w
tﬁ;??io? 2) Ta600 (3 4200 (4) 74500
(1

22



72.

73.

74.

75.

76.
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There are 12 kids in a classroom. 6 kids are wearing socks and 4 are
wearing shoes. 3 kids are wearing both. How many are in bare feet ?

(1) 5 ‘ 2) 3
(3) 4 (4) None of these

T P A 12 = ¥ 16 T=Y AT 9 gu ¥ ol 4 ol 3 A=)
Il 9o gu ¥ ) Rre @l A1 7

(1) 5 (2) 3

(3) 4 (4) SR K ] g 7

During a club meeting a total of 28 handshakes were made. How
many members were present in the meeting ?

FE Bl A5H F HT 28 BT A ) 3o Yo &
R e Sufeerd o ?

(1) 14 2} 7 (3) 9 (4) 8

The value of square root of 0.09

0.09 T FhgEr & -
(1) 0.3 (2) 0.03 (3) 0.003 (4) 3.0

A is two years older than B, B is twice as old as C. If the total of the
ages of A, B and C be 27, then how old is B ?

A,B%}a‘raréasr%llaﬁ@rcﬁ 213 A B wg c
agwaﬁsz?%,é‘rBaﬁayw%g?-Tﬁ |

(1) 4 (2) 5 (38) 6 (4) 7

If25% of a number 1s 75, then 45% of that number js ?

qﬁ%ﬁﬁwwzm,?sa ﬁraﬁﬁ@naﬁms%wgﬁ?
(1) 145 2) 125 (3) 150 @) 135

23
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77.

78.

79.

80.

81.

82.

By selling a watch for T 495, a shopkeeper incurs a loss of 10%. Find
the cost price of the watch for the shopkeeper ?

UF g1 H 7495 H Fa+ @ H 10% FI ST Bl 2 |
(1) ¥545 (2) ¥555 (3) %550 (4) ¥ 565

In throwing a fair dice, what is the probability of getting the number
3 ?

dfer S 9, d@T '3 9 @ giidhar e ¥ ?
(1) 1/6 (2) 1/3 (3) 1/9 (4) 1/12
The value of 36 = [ 18 = {14 - (15 -4 = 2 x 2)}] is:

36-[18~-{14-(15-4 + 2 x 2)}] FH AT T -

(1) 23 (2) 24 (3) 21 (4) 25
(8 - 88) x 8888088 = 7?

(1) 808008 (2) 808080

(3) 808088 (4) 8008008

‘Patanjali’ is well known for the compilation of ?

(1) Yoga Sutra (2) Panchatantra

(3) Brahma Sutra (4) Ayurveda

(1) anr g3 (2) UHdA

(3) & gA (4)

Taxila University was situated in ----:
(1) Pakistan (2) India (3) Bangladesh (4) Burma

qefare fasafyenea Red T .
1) wERE () @ G drra (@)
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83. Who was the Mughal Emperor to have lifted the Jaziya on Hindus ?

(1) Babur (2) Akbar
(3) Jahangir (4) Shahjahan
R T A Regelt ox e any sirr @Y wHre Rbar o ?
(1) 91 (2) SThHET
() R (4) SmETEl
84. Which one of the following slogans is attributed to Subhash Chandra
Bose ?
(1) JaiJawan Jai Kisan (2) Vande Mataram
(3) Jai Hind (4) Ingilab Zindabad
T |/ HE-91 A0 g T G Y Ry ar ?
(1) 517 Sja= 511 forgm (2) a= AWy
3) s feg (4) FRema N
85. "Teachers' Day" is celebrated on the birthday of :
(1) Jawahar Lal Nehry (2) S. Radha Krishnan
(3) Rajendra Prasad (4) Mahatma Gandhi
‘T Reaw” waie w99 sRe 93 S o B
(1) SEEx T Jss (2) TH. TAT FETT
(3) TS= wHIg (4) weErET ArE
86. The Constitution of India came into force on ?
(1) December 9, 1946 (2) January 26, 1949
(3) January 26, 1950 (4) November 26, 1951
W & "y g i @ qardy & 9
(1) 9 RaE=R, 1946 (2) 26 Sad, 1949
(3) 26 598, 1950 (4) 26 ¥E=R, 1051
25
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87.

88.

One of the following is NOT a Union Territory :

(1) Tripura (2) Daman & Diu
(3) Lakshadweep (4) Puduchery
Frfafas & & o @9 g & T8 B

(1) =ga (2) 9 ud g

(3) R (4) aigEd

What is the maximum age limit prescribed for the post of the Presi-
dent of India ?

(1) 58 years

(2) b0 years

(3) 62 years

(4) There is no maximum age limit

AR & gefy @ g @ R Sead I @ A i
®H TR |

(1) 5894 (2) 60y o
(3) 62 a9 (4) I IJoaaH STY HIEAT Tel @ |

89. The Vice-President is the ex-officio Chairman of the :

90.

(1) Rajya Sabha

(2) Lok Sabha

[3) Niti Ayog

(4) National Development Council

3q Uy 4R SHemE B T
(1) I | D (2) @ w D R
(3) Hfr emaT B (4) T foepr aREg
in India, the Prime Minister remains in office so long as he enjoys
o - S :

(1) Support of Armed Forces

(3) Confidence of Lok Sabha

(2) Confidence of Rajya Sabha
(4) Support of the people

26
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92.

93.

94.
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IR & TEEET al J% 9EiE W § o9 d% 3% ...
faeama ura w=ar 2

(1) @1 & (2) =9 A FN
(3) TR T FH (4) <T@
'Shakti'- Sthal' is related to whom ?
(1) Smt. Indira Gandhi (2) Rajiv Gandhi
(3) Mahatma Gandhi (4) Pt. Jawahar Lal Nehru
“ofeRT TR e T B 7
(1) sfmeh gz oAt (2) <ofE e
(3) HETHT ey (4) Yo STATEY A TS
The 'Attorney General' of India is a legal advisor to......... ;
(1) The President of India (2) The Prime Minister
(3) Lok Sabha (4) Government of India
IR & ‘TeHT sHRer e HAT FaATBHR By & ?
(1) ¥R & Tegafy (2) eTE
(3) WMH 9w (4) ART GEHR
The 'Upper House' of Indian Parliament is known as......... ?
(I) The Rajya Sabha (2) The Lok Sabha
(3)  The National Assembly (4) The Indian Parliament
RT & weAt H Tew qaT” A ded B 7
(1) =g |9 (2) FH qHr
(3) T T (4) "RAT geT
The 'Right tc.) Vote' in India is given to all people on the basis of ?
(1) Education (2) Property
(3) Religion (4) Age

27
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95.

96.

97.

98.

:‘T@%ﬁ?“qﬁmwm”mﬂﬁﬁaﬁmmwﬁm

(1) Farem (2) gufe
(3) e (4) I

How many spokes are there in the Dharma Chakra (Ashok Chakra)
depicted on the National Flag of India ?

TS & & 3t g § b diedl § 7
(1) 16 (2) 20 (3) 24 (4) 32

What 1s national flower of India ?

(1) Rose (2) Lotus

(3) Lily (4) Sunflower

AR 1 TS G M8

(1) e | (2) A

(3) fweht (4) FIgE

What is the minimum legal age of marriage for girls in India ?

(1) 16 years (2) 18 years

(3) 21 years (4) 23 years

AR § afmelt @ ok B R e Qe oy A E
(1) 16 = (2) 18 a9

(3) 21a4 (4) 23a9

Which of the following can be called as a part of the Service sector ?
(1) Textile Mills (2) Retail and Logistics

(3) Coal Mines | (4) Agriculture

= & Peee &1 8 H 3t | ST © 7

(1) e A 2) I T AR

o) @ T (4) =W

28



16U/118/8

99. Which state of India has the largest area ?

(1) Uttar Pradesh (2) Madhya Pradesh
(3) Maharashtra (4) Rajasthan
RS & R o @ aEee gad eiftes © 2
(1) IET gagT (2) " 93T
(3) HerTsy (4) TR
100. Which state in India is estimated to have the largest coal reserves in
India ?
(1) Bihar (2) Jharkhand
(3) Madhya Pradesh (4) Orissa
WA % 60 W T B wed e vew 2
(1) faer (2) #Hgvs
(3) = wRer (4) SErar
101.The 'Tehri Hydro Power Complex' is located in the state of cova P
(1) Uttarakhand (2) Uttar Pradesh
(3) Himachal Pradesh (4) Sikkim
‘Mwaﬁm’%ﬂwﬁ%?
(1) ScrEee (2) I w3y
(3) fRwrem wr (4) faferpn
102.'Mid-day Meal' scheme was launched in 1995 to promote ?
(1) Adult Literacy (2) Higher Education
(3) Professional Education (4) Primary Education

1995ﬁ‘fm3%rﬁa”aﬁwﬁvﬁma%}:ﬁmam%%%q
S R oo

() ArEfs fray (4) eIt fray
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103.The ' White Revolution' is related with :

(1) Fish production (2) Food grain production
(3) Oilseed Production (4) Milk Production
G e TEE 8
(1) #&ell I (2) ST IATEHA
(3) T & ST w1 IR (4) TI INEA
104. Which is the biggest enterprise of the Government of India ?
(1) Postal and Telegraph (2) Railway
(3) Banking (4) Shipping
e TR T GEd g1 I9H i 8 7
(1) 3T Td AR PIESES
(3) afHT (4)
105. Who amongest the following is NOT an auto company ?
(1) Hyundai (2) Tripex
(3) Maruti Suzuki (4) Tata
S Y B onerEEE F 27
(1) &A@ (2) fede
(3) HIERY W (4) TTeT
106.What is the name given to the common currency of the European
Union ?
(1) Rupee (2) Rouble (3) Franc (4) Euro
e gfad & qEE gET B A F g7
(1) 9dl (2) & (3) Wb (4) g
107.Which of the following is the farthest planet to the sun4? i
(1) Mars @) Jupiter (3 Neptune (3
?
ﬁﬂﬁﬁqﬁ%mﬁﬁﬂg&ﬁaﬁ?—wm%. N
e 2 gew (3) FET (4)

(1)
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108.The world's longest river is .... :

(1) Nile (2) Ganga

(3) Amazone (4) Mississippi

fasg = g @=h 95 & .

(1) =« (2) R

(3) A (4) freifeh
109.The boundary line between India and China is called :

(1) McMahon Line (2) Red Line

(3) Radcliffe Line ' (4) Durand Line

ARG @ H % dHedt @ # ey ¥

(1) Aepde Tar (2) T Er

(3) YshRT® I (4) 3Is @
110. The largest producer of gold in the world is :

(1) Australia (2) Canada

(3) Russia (4) South Africa

Y # [T § gad gs7 omEs Do

(1) Smegferar (2) e

(3) =g | (4) ot ety
111. Bhilai is associated with. ..

(1) Cotton Industry (2) Silk Industry

(3) Iron and Steel Industry (4) Sugar Industry

s fow Sei & g B

(1) i e (2) el S

(3) el ud geqrr Sy (4) = Sy
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112. A printer is this kind of device... :

(1) Input (2) Word Processing

(3) Processing (4) Output

T =R 39 YER H JIBT 8 |

(1) 39T (2) T marET

(3) yraf&wT (4) oTSeYe
113.CDs are of which shape ?

{1) Square (2) Rectangular

(3) Round (4) Information

CDs frg ammept @ & 8 7

(1) aTwTe (2) SATTATDIX

(3) T (4) I

114. Which of the following is the largest unit of storage ?

el ¥ @ HSOT B TEQ gow IHE © 7

(1y GB (2) KB (3) MB (4) TB
115. Who is holding the post of India’'s Home Minister ?

(1) Arun Jaitely (2) Ravi Shankar Prasad

(3) Raj Nath Singh (4) Sushma Swaraj

"HRG%Q‘(-?FE?}%WWQ?H%? _

(1) STEVT Feah ©(2) @ <eRT AR

(3) T e (4) G ©GI

he winner of ‘Asia Cup Cricket 2016’ ?
(2) Pakistan

(4) Bangladesh

116.Who is t
(1) Sn Lanka

(3) India
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‘i w9 BFBT 2016’ F ST g D ?

(1)  =ficien VIR IETSSIE|

(3) W& (4) STFARY
117.India’s star sports person Mary Kom is related with... :

(1) Wrestling (2) Boxing

(3) Swimming (4) Badminton

IRA H R €@e gdq 38 3m grateg ¥

(1) eeit (2) TeRBETSIT

(3) TR (4) St
118.'My Experiment with Truth' is an auto biography of ?

(1) Jawahar lal Nehru (2) Sardar Patel

(3) Mahatma Gandhj (4) Subhas Chandra Bose

“HIE TeAUHEe fre " At SfreHepeT ¥ 7

(1) STarey &l Jee (2) TR Tt

(3) T Tely (4) WY g= g

119.'World Yoga day' is celebrated on :

(1) 3" March (2) 21* June
(3) 15" October (4) 8" March
9T AT Reaw m=m@r sy
(1) 391 & (2) 2153 =
(3) 15 STERET @t (4) 87T
120.Where will the Olympic Games in 2016 be held ?
(1) Tltaly (2) China (3) Brazil (4) Greece

2016 asraﬂﬁﬁqas@aasﬁanﬁrﬁﬁm?
(1) el () = (3) smofR (4) g
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SECTTION - 11
gvs- 11
Language : English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question.
Give the correct choice as an answer.

121. Plural of knife is :
(1) Knifes (2) Knifs (3) Knives (4) Knies

122. Which of the following word is always plural ?
(1) Cattle (2) Child (3) Monkey (4) Wife

Directions for Question no. 123 & 124 : Choose the most suitable word
to fill up the blanks with linking verbs.

123.The dogs ........ black.
{1) s (2) was
(3) were (4) None of these
1241 ...ie interested in B. Voc. course.
(V) e (?) are (3) am (4) were

125.'Ram is a intclligent boy'. The adjective in this sentence 18 :
(1} Ram (2) intelligent

(3) boy (4) is

Dircctions for Question no. 126 & 127: In each of the following questio_ns, a
sentence has been given in Active Voice. Out of the four alternatives

suggested, select the one which best expresses the same sentence 1n
passive Voice.

126.Mona was writing @ jetter to her father.

(1) A letter was written to her father by Mona.
(2) A letter has been written to her father by Mona.

3\ A lctter was being written by Mona to her father.
([‘q)] A letter was written by Mona to her father.
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127.Please help me.
(1) You are requested to help me.
(2) You are being requested to help me.
(3) You are requested to help me.
(4) You have been requested to help me.

Direction for Question no. 128 to 130 : Fill in the blanks in the following

sentences by selecting the most appropriate alternative from amongest
the four choices given under each sentence.

128. Experts fail to understand the ........ behind the decision.
(1) ideology (2) judgement
(3) politics (4) rationale
129.The reward is a ........ of her service to mankind.
(1) momento (2) memorial
(3) recognition (4) witness
130.My friend took his {irst pay to the bank to ...... it in his account.
(1) deposit (2) deficit
(3) debit (4) demote

Direction for Question no. 131 to 135 : Qive one word for the following
group of words/sentence.

131. A tank where fish or water plants are kept.
(1) Apiary (2) Aviary
(3) Nursery (4) Aquarium

132.An official numbering of the population.
(1) Censor (2) Counting
(3] Census (4) Demography
395
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133.Policy of a political party.
(1) Manifesto (2) Agenda
(3) Report (4) Circular

134.A man having no hair on the scalp.

(1} Hoary (2) Naked (3) Gaudy (4) Bald
135.Yearly celebration of a date or an event.

(1) Birthday (2) Anniversary

(3) Jubilee (4) Centenary

Directions for Question no. 136 & 137 : In the following questions, some
parts of a sentence have been jumbled up. You are required to rearrange
these parts which are labeled P, Q, R, S to produce the correct sentence.

136.Like many eminent men,

P : whose achievements

Q. he admired

R : he could not equal

S . other men

(1) PQRS (2) QSPR (3) RPSQ (4) RSPQ

137.1 have never met,
D : a friendliness and hospitality
Q : in your city
R : like the onc
S | have met
(1) PQRS (2) PRSQ (3) PSRQ (4) QPRS

i i : Agal h key word are given
j ns for Question no. 138 to 142 : Against each key wo _
Dj;‘;‘g :?ggested meanings. Choose the word or phrase which is nearest 1n

meaning to the key word.

138.Latent arent
(1) Concealed (2) App

; 4) Prompt
(2) Lethargic @)
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139. Shift

(1) To manage (2) Move

(3) Slide (4) Drag one's feet
140.Starve

(I} Float (2) Be naked

(3) Be hungry (4) Be naughty
141.Rigid

(1) Sticky (2) Voluminous

(3) Hard (4) Bent

142. Careless

(1) Spotless (2) Faceless
(3) Negligent (4) Vigilant

Directions for Question no. 143 to 145 : Pick out the word opposite or
nearly so in the meaning of the given words :

143.Accepted
(1) Rejected (2) Noted (3) Considered

(4) Provided
144, Come
(1) Play (2)  Fast (3) Go @) Got
145, Extrovert
(1) Bosatas___ (2] Mixer (3) Introvert
e 4) Socia}

317
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Directions for Questions no. 146 to 150 : Read the following passage
carefully and answer the questions given below it.

When you buy a car, examine carefully the important features of the model
you are considering. Myself as the buyer of the latest model has got into
trouble by buying a car too broad or too long for his garage. Furthermore, a
-30g Tad 35 100 hard to manage in traffic and too difficult to park. Another
feature is the comfort afforded. Are the seats nice and durably upholstered ?
s there cnough glass to give the driver a good view in all directions, particularly
to the rear ? [t should be remembered that the heavier and the more powerful
tecavis, the more expensive it will be to operate. High powered motors require
expensive hugh octane petrol. The greater weight means greater tyre wear
and enlarged brakes. The old cliché is still true : It is not the initial cost but
the upkeep which matters.

146.The wniter favors a car with a wide glass areas so that the driver can

(1) LEnjoy the scene outside while driving
(2) Have a good view of the rear
(3) Roll down the glass panes to get enough fresh air

(4) Display his beautiful upholstery with pride

147.1t is very expensive to maintain a large car because 1t

(1) Isheavy
(2) Requires more space for parking

Needs changing its tyres more frequently

(3)
(4 Needs more durable upholstery
g a car, one should specially consider its
dn R
g While L (2) Maintenance cost
" Price | @) Brakes
yphotste”

(3)
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149.According to this passage, the two factors that the buyer of a new

should keep in mind are

(1) Its price and size

(2) Its model and upholstery

(3) Its size and the comfort it offers
(4) Its upholstery and glass area

150.The size of the car should be in accordance with
(1) The money one can afford to pay
(2) The size of the garage the buyer has
(3) The width of the road where the buyer lives
(4) The volume of traffic on road.

39
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SECTION - II
gvs - 11
qrer o fEY
(= @ aer franfét 3 fom)
Fresr : Frafafed 9ot & (1), (2), (3) TaT (4) FHFH B TR-AR JHRTEH
S 3 ™ g, e @ % e @ 98 31 99 |@E Sww &)

gy |

151, ‘gear fFE Gsn @ I8 8 7

(1) Areaqras (2) STTfcraT=eh
(3) =ATFTaTEH (4) GgEaTEH
152. Fgme & fEad 95 § 7 _
(1) &= (2) =X (3) @ (4) 9=
153. ‘gatea’ &1 Af-a-faess 7 8 7
(1) gai + &= (2) gd + I
(3) #& + ==™ (4) gd: + 339
154, ‘Frarara’ @7 artyg 8T w1 8 ?
(1) forzm + st (2) fEr + a1
(3) famn + areamd (4) faam + =
155. S el edlfeln A Sar 8 7
(3) SteE (4) ST
56, 41 o T ST AEIT B A e §
’ , (2) |
(1) 7
(4) 919

(3) mERH
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FIEeT © 9T @ 157 /160 9% : Frefiad 1 Suga R o

By

157, sifea
(1) IqTTeey

158, e
(1) Ierem

159, F9
(1) sr=F=T

160. 3T

(1) SR
der : U dem 1619 165
R faweT Re mq &, 293

161. 3m9I¥
(1) pasmr

162, 3
(1) Swarh

163. Iwqr
(1) S99

164. &
(1) #er

165. ¥
(1) a7

(2) ax=1

(2) WO

(2) Ty

(2) afx

(2) ZHereran

(2) wmeq

(2) et

(2) gqem

(3) WS

(3) &

(3) T

(3) U<
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